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TME1NE= SRR a= SR a=
A K 4 0 I G | HC | NET JIE A7 K 4 0 I G | HC = NET [[[=tha K 4 0 I G | HC | NET JIEA57 0 | I
1| B Rst 38| 35 73] 3.0 70.0 61 | A Kbl 40 43 83 3.0 80.0 121 | )N 47 51 9810.0 88.0
2 | HiHE 37| 40 77 6.0 71.0 62 | AR 40 44 84 4.0 80.0 122 | RijFHBEA 47 | 53 100 | 12.0| 88.0
3 HH AR 43| 39 82 |11.0| 71.0 63 | A B 32 41 45 86 6.0 80.0 123 REFIEE 45 | 48 93| 4.0 89.0
4 | A 43 | 41 84113.0| 71.0 64 | BREFRZ 43 43 86| 6.0 80.0 124 | HHHSE— 47 | 50 97| 8.0 89.0
5 | AR 48t 371 40 77 5.0 72.0 65 | KPEZ# 44 43 87| 7.0 80.0 125 | AR —15 49 54 103 113.0 90.0
6| HIH—1K 40 | 42 82110.0| 72.0 66 | fex RK—IE 39 49 88| 8.0 80.0 126 | IAAT L 53 46 99| 8.0 91.0
7| ME= 44 | 39 83|11.0| 72.0 67 | ZJF A 44 45 89 9.0 80.0 127 WA= 49 | 52 101 110.0 | 91.0
8 | ZrHI, 40 | 45 85[13.0| 72.0 68 | JLaHE = 46 43 89 9.0 80.0 128 | H 7 BT RH 55 | 48 103 12.0 91.0
9 | HEILEZ 38 41 79| 6.0 73.0 69 | TE/KEFE 43 46 89 9.0 80.0 129  ARH = 49 | 55 104 |13.0 | 91.0
10 | EPFHEA 40 | 41 81| 8.0 73.0 70 | thHEZ 47 44 91 111.0 80.0 130 FHAT YR 50 54 104|13.0 91.0
11| THZEE 41| 40 81| 8.0 73.0 (ARZDIIE:-IN 48 45 93 13.0 80.0 131 JREF|Z 55 46 101 8.0 93.0
12 | EH#RTE 40 @ 42 82| 9.0 73.0 72 | b A fE 43 43 86 5.0 81.0
13| AER 40 | 42 821 9.0 73.0 73 | dfEE 41 46 87 6.0 81.0
14 A fs— 37| 45 821 9.0 73.0 74 | it AT 47 44 91 10.0 81.0
15 | RATfE— 44 | 40 84 |11.0| 73.0 75 | IUAKHER 49 43 92 11.0 81.0
16 | FART Sk 36| 38 74 0.0 74.0 76 | EATLE 48 44 92 11.0 81.0
17 | AK$RIES 38| 36 74 1-1.0 75.0 7 | NRETR 49 45 94 13.0 81.0
18 | EEIZA 39 38 77 2.0| 75.0 78 | REHI R 44 45 89| 7.0 82.0
19 | %R 43 | 40 83| 8.0 75.0 79 | MR R 45 45 90| 8.0 82.0
20 | IR E W 40 | 44 84| 9.0 75.0 80 | FUE G 48 42 90 | 8.0 82.0
21 | JHEFIE[E 46 | 38 841 9.0 75.0 81 | i) II{EAHR 44 47 91 9.0 82.0
22 | THJBs 43 41 84| 9.0 75.0 82 | HHPHHE 41 50 91 9.0 82.0
23 | IRs L 41| 44 85110.0| 75.0 83 | i fd 46 = 46 92 10.0 82.0
24 | fa FHFEFD 40 | 41 81| 5.0 76.0 84 | HEFRK 50 45 95 13.0 82.0
25 | EhikR 42 40 82| 6.0 76.0 85 | HL)IIFEHI 41 44 85| 2.0 83.0
26 | gnARFEX 40 | 43 83| 7.0| 76.0 86 | -HE 45 41 86 3.0 83.0
27 | T HYE 39| 46 85| 9.0 76.0 87 | iHFnE 46 45 91 80 83.0
28 | e 39| 49 88112.0| 76.0 88 | FIAIEAD 44 47 91| 80 83.0
29 | B 45| 44 89113.0| 76.0 89 | B jr AR 51 42 93 10.0 83.0
30 | i H{ETR 42| 38 80| 3.0 77.0 90 | SFHATE 49 45 94 11.0 83.0
31 | ZHHER 41| 40 81| 4.0 77.0 91 | BEHE&EZ 47 48 95 12.0 83.0
32 | BEJEF 44| 39 83| 6.0 77.0 92 | %) Efik 48 48 96 13.0 83.0
33 | KL 43 41 84| 7.0 77.0 93 | BRIELE 49 47 96 13.0 83.0
34 | IAAFEL 43 | 42 85| 8.0 77.0 94 | /IMAAE 47 49 96 13.0 83.0
35 | BJFUE—HR 46 39 85| 8.0| 77.0 95 | fAFN 41 46 87 3.0 84.0
36 | 443854 44| 43 87110.0| 77.0 96 | iy H Al 47 42 89| 5.0 84.0
37 | W% 47 | 42 89 112.0| 77.0 97 | AT Z25L 45 45 90 | 6.0 84.0
38 | 1A 45 | 45 90 |13.0 77.0 98 | FHHI{ & 45 47 92 8.0 84.0
39 | ks 36| 43 79 1.0 78.0 99 | FEEM 45 47 92| 8.0 84.0
40 | PG )11ZE2 43 | 40 83| 5.0 78.0 100 | PHHEIR 47 47 94 10.0 84.0
11 | IR HE 41| 42 83| 5.0 78.0 101 | KHF]= 48 48 96 12.0 84.0
42 | #=ILBE R 42 | 43 85| 7.0 78.0 102 | 1 B # 48 49 97 113.0 84.0
43 | s wE 41| 45 86| 8.0| 78.0 103 | #f HIHE = 49 47 96 11.0 85.0
44 | (35 )5 45 | 41 86| 8.0 78.0 104 | /NPEIE R 46 = 50 96 | 11.0 85.0
45 | R H WIS 39| 48 87| 9.0 78.0 105 | )%= 48 49 97 112.0 85.0
46 | TR EF 46 | 44 90 |12.0| 78.0 106 | & FoRAE 49 49 98 13.0 85.0
47 | X H AW 43| 47 90 12.0| 78.0 107 | #EAKIAT 41 46 87 1.0 86.0
48 | b 46 | 45 91 13.0| 78.0 108 | HFikE— 47 49 96 10.0 86.0
49 | )1 FH— 42 | 41 83| 4.0 79.0 109 | HH5E3C 44 52 96 1 10.0 86.0
50 | K R 45 | 42 87| 8.0 79.0 110 | |11 IEA8 47 50 97 |11.0  86.0
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LM 1= IR a= S R_R2 T a=

NEAT K 4 0 I G | HC = NET JEAS7 K 4 0 I G | HC  NET JEAT G | HC = NET JIEAL 0 1

51 | [{#'&#] 43 44 87| 8.0 79.0 111 | AR 41 47 88| 1.0 87.0

52 | Kk HRERK 45 | 42 871 8.0 179.0 112 | AA BERK 48 | 48 96| 9.0 87.0

53 | AR E K 45 | 42 87| 8.0 79.0 113 | g5k 49 47 96 9.0 87.0

54 | 8 HBME 43| 44 87| 8.0 79.0 114 | BHE1E— 49 47 96 9.0 87.0

55 | BEE & 44 | 44 88| 9.0 79.0 115 | AfR3EH] 47 49 96 9.0 87.0

56 | PEFE 46 | 42 881 9.0 79.0 116 | )l 45 52 97 110.0 87.0

57 | RREFH e 45 1 43 88| 9.0 79.0 117 | i B 2% 52 45 97 110.0 87.0

58 | Il FH-EAK 48 | 41 89110.0 79.0 118 | Vo &= 52 47 99 [12.0 87.0

59 | VEEETR 46 45 91112.0] 79.0 119 | T/ — 52 47 99 1 12.0 87.0

60 | T AZR 36 | 46 82| 2.0 80.0 120 | VeI 5E36 50 48 98 110.0 88.0
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